SUPPLEMENT

TABLE S1: Ordinary differential equations comprising the model.
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= —ky[TF|[VII| 4k [TF = VII|— k4 [TF][VIla) + k3[TF = V1Ia]

— —Io[TF|[VI] +k [TF = VII] —ks[TF = VIla][VII| — ke[Xa][VII] - ky [Ha)[V11]

=k [TF = VI +ky [TF)[VI]

= k4 [TF)[Vila] +k3[TF = VIla) + ks[TF = V1ia|[V1I]| + ke [Xa[V1I) + ky [I1a] [V 1]]

= —k3[TF = VIld) + k4 [TF)[VIla) — ko[TF = VIIa|[X] + kg[TF = Vila = X] — ko [TF = V1la|[Xd) + ky, [TF = VIla = Xa]
—ky4[TF = VIIa)[IX] +k3[TF = VIia = IX| + ki5[TF = Vila = IX] — k37 [TF = VIla][Xa = TFPI| — kg [TF = VIIa][AT]
= —kpa[TF = VIld)[Xa] + k11 [TF = VIla = Xa) +ky [IXa = VIIla = X) — kyg[Xa[Va] + ky7 [Xa = Va] — k34 [Xd] [T F PI]
+k33[Xa = TFPI) — k3g [Xa][AT] + kg3 [IXa][X]

= ky[Xa][ll] + ka[mlla][Xa = Va] — kay [I1a][AT]

= —ko[TF = VIld][X] + ks[T'F = Vila = X] — ky) [IXa = VII1a)[X] + kao[[Xa = VIIla = X] + ko5 [[Xa = VIlla = X] — ky3[IXa][X]
= ko[TF = VId|[X] — kyo[TF = VIla =X — kg[TF = Vlia = X]

= kyo[TF =Vlla=X]+kp[TF = Vild[Xa) — k| [TF = VIla = Xa] — k3 [TF = Vila = Xa|[TFPI) + ks|TF = VIla = Xa = TFPI|
= —ky4[TF = VIIa|[IX] + k13 [TF = Vila = IX]

= k4 [TF = VIIa)[IX] — k\3[TF = VIla = IX] — ki5[TF = VIla = IX]

= kys[TF = Vlla = IX) — kyo[VIIla)[IXa] + kig[IXa = VIIla) + kys[[Xa = VIlla = X] + ks [[Xa = VII1a] — ks [IXa[AT]
= —kjg[Xa|[ll] — kg [Xa = Va|[ll] + kyg[Xa = Va = I

= —ky7[HHa)[V111)

= ky7[1a)[VIH] — kyo[VIHIal[IXa] + kig[IXa = VIIIa) — ko4 [VIIIa] + ko3 [VIILIcal|[VII1.q2)

= kyo|[VIlla)[IXa) — kig[IXa = VIIla] — ky| [IXa = VIIIa)[X] + kyo[[Xa = VIlla = X] + ky[IXa = ViIla = X] — kys[IXa = VIIla]
= koy [IXa = VIIIa)[X] — kao|[IXa = VIIIa = X] — ko |IXa = VIIla = X] — kys[[Xa = VIIla = X]

= koy[VIlla) + kps[IXa = VIIIa = X] + kys[IXa = VIIla] — ky3[VIILIcal][VIIL.a2)

= koy[VIlla) + ko5 [IXa = VIlla = X] + kys[IXa = V] — ky3[VIIL.Ical][VIIL.a2]

— —koglHHallV) - kysmital[V]

= kog|l1d][V] — kog[Xa][Va] + ka7 [Xa = Va] + kag [mila][V]

= kog[Xa][Va] — ka7[Xa = Va] — k3o [Xa = Va][ll] + kag[Xa = Va = II] + k3| [Xa = Va = II|

=k30[Xa = Va|[ll] — kyg[Xa =Va=1I|— k3| [Xa =Va=1I]

= k31 [Xa = Va = II] — kyy[mlla][Xa = Va] — kzg[ml1a][AT|

= k34 [Xd][TFPI) + k33[Xa = TFPI| —k3g[TF = VIla = Xd|[TFPI] + kys[TF = VIla = Xa = TFPI]

— ks4[Xd|[TFPI) — ky3[Xa = TFPI| — k37 [TF = VIla][Xa = TFPI]

= ksg[TF = VIla = Xa|[TFPI| - kss[TF = Vlia = Xa = TFPI| + k7 [TF = Vila][Xa = TFPI|

= —kag|[Xa][AT] — k3o [mIIa][AT] — kao[IXa)[AT) — kay [[1a][AT] — ks [TF = V1IIa][AT]

= k3g[Xa][AT]

= k3o [mlla][AT)

= kao[IXd][AT)

= kqy [11a][AT]

= kyp[TF = V1la][AT]
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